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The following abbreviations may appear in this examination paper

Die volgende afkortings mag in hierdie eksamenvraestel voorkom

ENGLISH

marginal propensity to consume
consumption spending
demand for bonds

nominal exchange rate
expected nominal exchange rate
real exchange rate

government spending
Investment spending

foreign interest rate

demand for money

supply of money

real money supply

trade balance

price level

pnce of bonds

supply of bonds

nominal wage

real wage

exports

output and income level
foreign output and income level
natural level of output

total demand

demand for domestic goods

| RO T T A N T B B

AFRIKAANS

grensverbruiksgeneigdheid
verbruksbesteding

vraag na effekte

nominale wisselkoers
verwagte nominale wisselkoers
reele wisselkoers
owerheidsbesteding
Investenngsbesteding
buitelandse rentekoers

vraag na geld

aanbod van geld (geldvoorraad)
reele geldvoorraad
handelsbalans

pryspeil

prys van effekte

aanbod van effekte

nominale loon

reele loon

uitvoer

produksie- en inkomepeil
buttelandse produksie- en inkomepeil
natuurhke produksiepeil

totale vraag

vraag na binnelandse goedere
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Read all instructions CAREFULLY before answering the questions.
This paper consists of two (2) sections: A and B.

Lees al die instruksies NOUKEURIG voor u die vrae beantwoord.
Hierdie vraestel bestaan uit twee (2) afdelings: A en B.

SECTION A: COMPULSORY (50 marks)
AFDELING A: VERPLIGTEND (50 punte)

INSTRUCTION ANSWER ALL THE QUESTIONS
INSTRUKSIE BEANTWOORD AL DIE VRAE

QUESTION 1/VRAAG 1 (12 marks/12 punte)
Question 1.1/Vraag1.1 (3 marks/3 punte)

Draw a consumption curve using the following consumption function C = 300 + 06Yp
Indicate on the diagram the inttial position where disposable income equals 500 and the effect
of an increase n disposable income from 500 to 600 on consumption spending (3)

Trek 'n verbrutkskromme deur gebruik te maak van die volgende verbrutksfunksie

C = 300 + 06Yp Dui op die diagram die aanvankhke posisie aan waar besteebare inkome

gelyk 1s aan 500 en dui aan wat sal gebeur met verbruksbesteding as die besteebare inkome

van 500 tot 600 toeneem (3)
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Question 1.2/Vraag 1.2 (9 marks/9 punte)

a  Use the diagram of the goods market model below to calculate the muiltiplier
(Diagrams A and B are identical ) Show the formula (1)

a  Gebruk die onderstaande diagram van die goederemarkmodel om die vermenig-
vuldiger te bereken (Diagramme A en B 1s identies ) Toon die formule (1)

- —a
°{ |— mpC

- )
1-0.6

= 2.5

b Use the following two goods market models to illustrate the difference between the
Impact of an increase of 200 in government spending (Diagram A) and the impact of a

simultaneous increase of 200 in government spending and an increase of 200 in taxes
(Diagram B) on the level of output and income

Label ali axes and curves and clearly indicate the following on both diagrams

° Autonomous spending values
* The values of the equilibnum level of output and income

e The size and direction of the change in government spending, taxes and the level
of output and income (8)

b Gebrukk die onderstaande twee goederemarkmodelle om die verskil tussen die impak
van 'n toename van 200 in owerheidsbesteding (Diagram A) en die impak van 'n
gelyktydige toename van 200 in owerheidsbesteding en 'n styging van 200 in belasting
(Diagram B) op die produksie- en inkomepeil te Hllustreer

Benoem alle asse en krommes en toon duidelik die volgende op beide diagramme aan

. Outonome bestedingswaardes

° Die waardes van die ewewigsproduksie- en inkomepell

° Die grootte en ngtingverandenng van die verandering in owerheidsbesteding,
belasting en die produksie- en inkomepell (8)
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Diagram A Diagram B
Increase in govarnment spending Simultaneous increase in government
spending and taxes
Toename in owerheidsbesteding ‘ Gelyktydige toename in
owerheidshesteding en belasting
F4 LZ;
ZZLa
2z
&0 -
480 o |
400 /’ i |
/ Il ' |
P
A e ,
g 10001200 1500

Note Calculations (rough work) will not be marked All 8 marks come from your graphical
illustration on and labelling of the two diagrams

Nota Berekening (rofwerk) word me gemerk nie Al 8 punte kom van u grafiese illustrasie op en
benoeming van die twee diagramme

Rough work/Rofwerk
. G (200 — 28 (260) DI M (20K 2.5)
= 5060
Wk Z =600 ngMy =~ 19060

ST (2w) — LY (20eZB%0.€) SIL [ 200%2.6%0.8)
= - 1&0 = - 300
e 2= 430 naw 4= 1200
‘Net Efpet NP by 300, apw ¥ = 1200
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QUESTION 2/VRAAG 2 (4 marks/4 punte)
Use a demand for money curve to illustrate the effect of
a  Anincrease of the interest rate in Diagram A on the quantrty of money demanded
b Adecrease of the level of output and income in Diagram B on the demand for money
Gebruik 'n geldvraagkromme om die effek van die volgende te illustreer
a 'n Styging in die rentekoers op die hoeveelheid geld gevra in Diagram A
b 'n Daling in die produksie- en inkomepeil op die vraag na geld in Diagram B
Diagram A Diagram B
An Increase of the interest rate - A decrease of the levau—:touwand '
'n ing In die r.entek : 'n Daling in die g;m en inkomepeil
) WS : Y
&% a
4 0
|
0 M |© M
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QUESTION 3/VRAAG 3 (7 marks/7 punte)

a During periods of low economic growth, the output and income levels decline In the
economy It is also possible to move into a resession, in other words a decrease in real
GDP for two or more consecutive penods (where a penod is three months)

Use the following IS-LM model to illustrate graphically and explain by using chain of
events how a combination of fiscal and monetary policies can be used to counteract
the negative impact on the economy of low growth to increase the output and income
level and to reach the full-employment level Clearly indicate the full-employment level
on the diagram (5)

a  Gedurende periodes van lae ekonomiese groel daal die produksie- en nkompepeil n
die ekonomie Dit 1s ook moontlik om 1n 'n resessie in te beweeg, met ander woorde, 'n
negatiewe groel In reele BBP vir twee of meer agtereenvolgende periodes (waar 'n
penode drie maande Is)

Gebrukk die volgende IS-LM-model om grafies te ilustreer en te verduidelik deur
gebruik te maak van gebeurteniskettings hoe 'n kombinasie van fiskale en monetére
beleide gebruik kan word om die negatiewe impak van lae ekonomiese groei op de
ekonomie teen te werk ten einde die produksie- en inkomepeil te verhoog en volle
indiensneming te bereik Toon duidelk die volle indiensnemingspell op die diagram

aan (5)

IS-LM model ’
: 1S-LM-modal

Chain of events / Gebeurteniskettings -
Expansicnary  Fiseal Paliy .
| a'boch‘ f\’\H‘ =
GP= 24 5 3

[TURN OVER]
[BLAAI OM]



8 ECS2602

F\“'\Qnd(l( Mﬂ(ke{ 05/06 2016

F y» > Mt >

Expandonacy Fténetary Policy,
Flaandal Macket

MT - Mb 50

(medy N\arkel

> Ir >7h ->N4

b Explain by using a chain of events what the impact of the combination of monetary and
fiscal policies needed to reach the full employment level of output and income will be on
the equilibrium interest rate Q)

b Verduidelik, deur gebruik te maak van gebeurteniskettings, die impak op die ewewigs-
rentekoers van 'n kombinasies van fiskale en monetére beleide wat nodig 1s om die
volle indiensnemingspeil van inkome en produksie te bereik 2)

Impact on the equilibrium interest rate / Impak op die ewewigsrentekoers

Monetony  pilicy -

M S D150

Fiead  Bblicy

) RSOV

S backebain
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a List the components of the "domestic demand for goods” Give an example which

QUESTION 4/VRAAG 4 (15 marks/15 punte) {6( %

Question 4.1/Vraag 4 1 (9 marks/9 punte)

would lead to an increase in the domestic demand for goods (1%%)
a Lys die komponente van die "binnelandse vraag na goedere” Gee 'n voorbeeld wat sal
lel tot 'n styging in die binnelandse vraag na goedere (1%)
Components / Komponente
¢ Contumphion

. TSl Grnding

. Govecameat  Cpnding
* FeapPerhy ) -
Example / Voorbeeld

» Brcreate 1h  ary OF the factra  \Tshech albows

b  List the components of the "demand for domestic goods" Give an example which
would lead to an increase in the demand for domestic goods . (1%%)

b  Lys die komponente van die "vraag na binnelandse goedere” Gee'n voorbeeld wat sal
let tot 'n styging in die vraag na binnelandse goedere (1%)

Components / Komponente . CG‘Y\QUmPHd\
. Tnuethment gqefr\dl:xg
. Govern~gat ‘%no\\\f\q
-C-“'ﬁlscx‘h i

Example / Voorbeeld

*ProtoR (n gny of R =t licked
alove . i

c Use the following two diagrams (given the initial equilibrium level Y,) to show
graphically (llustrate) the impact of the following two events on the level of output and
income and on the trade balance

()  anincrease in the "domestic demand for goods" in Diagram A,
(1) anincrease in the "demand for domestic goods" in Diagram B

Compare the impact on the level of output and income and on the trade balance (6)
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Gebruk die volgende twee diagramme (gegewe die aanvankike ewewigspell Y,) om

grafies aan te toon (te illustreer) wat die impak van die volgende twee gebeure op die
produksie- en inkomepeil en die handelsbalans 1s

() ’'ntoename in die "binnelandse vraag na goedere" in Diagram A,
(1) 'ntoename in die "vraag na binnelandse goedere" in Diagram B

Vergelyk die impak op die produksie- en inkomepeil en op die handelsbalans (6)

Diagram A

Diagram B
An'increass in the "domestic demand for | An increasa in the "demand for gomestic
g°0d-=" I mn N
'n Toename in die "binnelandse wraag n& | *n Yaenams in die “wraag iz bingslandse
: - goedere” : ___goedere”
Z

¥4

Zli
% ;
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Comparison of the results on the output and income level / Vergelyking van die resultate op
die produksie- en inkomepeil

:1a botx  wmslaccec e led of Output e

\WComl 1N crealP,

Catpars OF EOE&TT .
o3 2wt o o ZT

Companson of the results on the trade balance / Vergelyking van die resultate op die
handelsbalans

: P‘ ) \;‘\C eae W CJ\OW'QQHC atﬂmqr\cf'
~oc Qoo e wlis v tede mlancg
dedeqoahon whhie™S o~ (~cro o 1~
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Question 4 2/Vraag 4.2 (6 marks/é punte)

Use the following IS-LM model for an open economy to explain the possible impact of a

decrease In government spending on the goods market, the financial market, the exchange
rate and the trade balance

You can use a chain of events or words to explaimn the impact (6)

Gebruik die onderstaande 1S-LM-model vir 'n oop ekonomie om die moontlike impak van 'n

afname in owerheidsbesteding op die goederemark, die finansiele mark, die wisselkoers en
die handelsbalans te verduidelik

U kan van gebeurteriskettings of woorde gebrutk maak om die impak te verduidelik (6)

! !
18 M

0 Y o E
Explanation/Verduideliking
Yeapackt 4. Gmd Macket
Gy 2 ZV a3V

Hoandad  Narket
AV o NBY =i

EXCL-L\C\(\C_{G‘ ale and the H=dae b=lance

L = capifad sutfiow = E L —5%h = Iuxh
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QUESTION 5/VRAAG § (12 marks/12 punte)
Question 5.1/Vraag 5.1 (5 marks/5 punte)
Use the following diagram to answer questions a, b and ¢
Gebruik die volgende diagram om vrae a, b en ¢ te beantwoord
w
P
094 foenensd
0.73 - a PS
053 boscowdan , ________
2% . L u
0 5 10 15
a  Whatis the value of the natural rate of unemployment? (1)
a  Wats die waarde van natuurlike werkloosheidskoers? (1)
10
b  Define the natural rate of unemployment (2)
b  Definieer die natuurlike werkloosheidskoers (2

eln Ui\t?mp\O\imen’( @t uwhee lhe amp\\ed
prce S‘E\bf\q edl wacp i< eqbu@\ b wophed
waae SQ{JO(\C\ el wqca@.
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c 1 Show graphically on diagram A below what would happen to the natural rate of
unemployment if the bargaining power of workers Is eroded by labour legisiation (1)
c | Toon grafies op diagram A hieronder wat met die natuurlike werkloosheidskoers
sou gebeur indien werkers se bedingingsmag deur arbeidswetgewing ondermyn
word %)
c Show graphically on diagram B below what would happen to the natural rate of
unemployment if firms were forced by anti-monopolistic legislation to decrease
their mark-up (1
c Toon grafies op diagram B hieronder wat met die natuurlike werkloosheidskoers
sou gebeur as firmas deur anti-monopolistiese wetgewing gedwing sou word om
hul prystoeslag te verlaag N

Diagram A Diagram B

The bargaining power of workers were eroded | The mark'ﬁp of firms dicreases
Werkers se bedingingsmag word ondermyn ~ | Die prystoeslag van firmas yerlaag

\ 05
Ps f '

ws ws
_ WS €«
\ | '|f

1] 0
Un, Yno

4 ¥

Ps

1L 2

Question 5 2/Vraag 5.2 (7 marks/7 punte)

a  List one factor that will shift the AD curve nghtwards in the AS-AD model Clearly
indicate the change in the direction of the factor (1)

a Lys een faktor wat die AD-kromme regswaarts sal verskuif in die AS-AD model Toon
duidelik die ngting van die verandering van die faktor aan (1)

eIncrear | Gover nerent gpeﬁa;ncj‘.

. TAaceea® Mone gupp\\., /
= ]

v Decrease i taxaben
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b List one factor that will shift the AS curve upwards in the AS-AD model Clearly indicate
the change in the direction of the factor (1)

b Lys een faktor wat die AS-kromme opwaarts sal verskuif in die AS-AD model Toon
duidelik die ngting van die verandering van die faktor aan (1)

cJncrease i expected pace leek

c Study the following diagram At point a (the short run) the actual price level i1s lower
than the expected price level Explain the adjustment process from the short run (point
a) to the medium run (label the medium run point ¢ on the diagram) Clearly indicate on
the diagram the shift of and/or movement along the curve(s) to reach the medium run (5)

c Bestudeer die onderstaande diagram By punt a (die korttermyn) is die werklike pryspeil
laer as die verwagte pryspeil Verduidelik die aanpassingsproses van die korttermyn
(punt a) na die medium termyn (benoem die medium termyn punt ¢ op die diagram)

Toon duidelik op die diagram die verskuwing van en/of beweging langs die kromme(s)
aan ten einde die medium termyn te bereik (5)

P

i
Ya ¥

L [ECEE, .,

Explanation of the adjustment to the medium run / Verduideliking van die aanpassing na die medium
termyn

USiIVG CHMO oF oS,

Nedium o ong Run

(b La i (Y\q.réﬂ-
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SECTION B: COMPULSORY (50 marks)

THE ENGLISH VERSION OF THE MULTIPLE CHOICE QUESTIONS START ON PAGE 20
THE AFRIKAANS VERSION OF THE MULTIPLE CHOICE QUESTIONS START ON PAGE 28
INSTRUCTIONS

In this section ALL questions must be answered on the mark reading sheet which Is supplied
Carefully follow the instructions for the completion of a mark reading sheet.

(1) Suppose a question reads as follows
An increase In the level of output
decreases the level of ncome in the economy
has no impact on the level of income in the economy

Increases the level of income in the economy
causes firms to employ less factors of production

W=

The correct answer 1s 3 You must therefore mark 3 on your mark reading sheet

()  Only one of the alternatives per question ~ listed as 1, 2, etc - 1s correct You must therefore
not mark more than one alternative per question

(m) For a comrect answer you receive 2% marks. No -rﬁarks are deducted for incorrect answers

{(iv) Section B consists of 20 questions and thus counts 50 marks out of the total of 100

Your mark }uadinﬁ sheet may get lost. You MUST tharafore also write your answers to this
section orl page 27 of your examipation answer book, for oxample 1(4); 2(3); 3(1); etc.

1
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AFDELING B: VERPLIGTEND (50 punte)

DIE AFRIKAANSE MEERKEUSEVRAE BEGIN OP BLADSY 28

INSTRUKSIES

In hierdie afdeling moet AL die vrae op die merkleesblad wat voarsien Is, beantwoord word Volg die
instruksies vir die volitooling van 'n merkleesblad sorgvuldig.

{) Veronderste! 'n vraag lees soos volg
'n Styging in die produksiepe!l
verminder die inkomepeil in die ekonomie
het geen invioed op die inkomepell in die ekonomie

verhoog die inkomepeil In die ekonomie
veroorsaak dat firmas minder produksiefaktore in diens neem

PON=

Die korrekte antwoord 1s 3 U moet dus 3 op u merkleesblad merk

(1) Slegs een van die alternatiewe per vraag, gelys as 1, 2, ens is korrek U moet dus nie meer as
een alternatief per vraag merk nie

(M) Vir 'n korrekte antwoord ontvang u 2% punte Geen punte word vir verkeerde antwoorde
afgetrek nie

(v) Afdeling B bestaan uit 20 vrae en tel dus 50 punte uit die totaal van 100

U merkleesblad mag wegl.'aak. U MOET dus cok u anMooréa op hierdie afdeling op bladsy 35
ih u eksamenantwoordboek neerskryf, byvoorbeeld 1(4); 2(3); 3(1); ens.
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SECTION B: COMPULSORY (50 marks)

-

“The unigue number for EC5§2602 is 477038

ry R

®

1 Which of the following statements are correct?

a \/( he main instrument of fiscal policy 1s the budget, while the main policy vanables are
govemment spending and taxation

b The result of the implementation of expansionary fiscal policy 1s that the budget deficit
increases

c JAn expansionary monetary policy entails an increase in the money supply to bring about a
decrease in the interest rate in order to increase the demand for goods in the economy

d JA contractionary monetary policy entails a decrease in the money supply and in the 1S-LM
maodel the LM curve will shift upwards

@ a,b,candd
2 Onlya, bandc
3 Onlyb, candd
4 Oniya,candd
5 Onlya,bandd

2 In the goods market model a decrease in consumer and investor confidence Is represented by

@ a downward shift of the demand for goods curve and via the multiplier effect the
equilibnum level of output and income declines

2 an upward shift of the demand for goods curve and via the multiplier effect the equilibnum
level of output and income increases

3 a steeper demand for goods curve and the equiibrium level of output and income
increases

4  a flatter demand for goods curve and the equilibnum level of output and income
decreases

3 Given that ¢, = R100, T = R250, G = R300, ¢ = %, T = R100 and Y¢ = R3 000 the equilibnum
level of income 15 and in order to reach the full-employment level of income, government
spending (G) must increase by  or taxes (T) must decrease by

R2 300, G must increase by R200, or T must decrease by R266 67
R2-200, G must increase by R175, or T must decrease by R233 33

R2200, G must increase by R200, or T must decrease by R266 67 @

[TURN OVER]
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4 If the central bank wishes to increase the interest rate in the economy the central bank should
implement

1

€,

expansionary monetary policy which involves the selling of bonds by the central bank on
the open market to decrease the supply of money The interest rate will increase
contractionary monetary policy which involves the buying of bonds by the central bank on
the open market to Increase the supply of money The interest rate will increase
contractionary monetary policy which involves the selling of bonds by the central bank on
the open market to decrease the supply of money The interest rate will increase
expanstonary monetary policy which involves the buying of bonds by the central bank on
the open market to increase the supply of money The interest rate wili increase

5  Which of the following statement(s) I1s/are correct?

if the financial market 1s In a iquidity trap

oo

1
2
&
4
5

ancial money market participants will buy bonds if the money supply Is increased

‘s}mnonetary policy 1s ineffective in bringing about a decrease in the interest rate

it 18 more effective for authonties to use fiscal policy when the economy Sn a hiquidity
trap

s o9
a,bandc

Onlyaandb (__'(’Vé' \*Q
Only b and ¢ g‘
Onlyaandc (_3"‘

Only b &”( V"‘

o, o

6  Which one of the following statements Is incorrect with regards to an IS curve?

1

To denve the IS curve, the first equilibnum point 1s determined for a specific interest rate
which relates to a corres?/mdlng total demand for goods curve which relates to a specific
output and income level

To plot the second point of the IS curve ye interest rate can be decreased to determine
the effect an the autput and income level

When the IS curve is denved we asSLyle that government spending, taxation and
consumer confidence remain unchanged

The IS curve has a negative slope because an increase in the interest rate will cause a
decrease in consumer spending

T e L. ok Gdu L»-./:)Bbu /

-
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Study the following LM curve and answer question 7 that follows

f

LM,

7  Which of the following statement(s) i1s/are correct?

At point a the demand for money is higher than at point b\[
At point ¢ the money supply is higher than at point a ~
At point a, point b and pont ¢ the financial market 1s In equilibrium

a,bandc
Only a

Only b
Onlyc
Onlyaandc

m@am-s 1o:._:rm

Lﬁﬁ%}—@r
Selrateld
8 Comparing the impact on the I1S-LM model for a closed economy of an expansionary monetary

policy with an expansionary fiscal policy on investment spending the result 1s that

In the case of fiscal policy investment spending 15 indeterminate and in the case of
monetary policy investment spending 1s higher

In both cases investment spending I1s indeterminate
In both cases investment spending definitely decreases

In the case of fiscal policy investment spending 1s higher and in the case of monetary
policy investment spending I1s lower

(1') In both cases investment spending definitely increases
2
3
4
5
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| if investors, based on the fallowing information, 3

Domestic interest rate in SA on South African bonds  12% 61 ] "\J g k .
Domestic interest rate in the USA on USA bonds 6% v Ir (P\ -

prefer to buy USA bonds it indicates that they expect the R/$ exchange rate to

1 be unchanged

2 appreciate by less than 6%

3 depreciate by less than 6%
(@ depreciate by more than 6%

5  appreciate by more than 6%

10  Which of the following statements are correct?

Imports are a function of the

level of domestic output and income
level of foreign output and income

expected pnce level
real exchange rate ,/

aoon

1 a,candd

2 b,candd
@ Onlyaandd

4 Onlybandd

5 Onlyaandc
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11 Given the goods market equilibnum at Y, in the diagram above, what happens to the level of
output and the trade balance in the event of a real depreciation of the exchange rate?

a The level of output decreases and the trade balance wouid detenorate due to the
Marshall-Lemner condition

b The level of output increases and the trade balance would improve due to the Marshali-
Lerner condition

¢ The level of output iIncreases and the trade balance would deteriorate due to the Marshall-
Lerner condition

d  The level of output decreases and the trade balance would improve due to the Marshall-
Lemer condition

1 Only a

(g) Only b

Only ¢

4  Oniyd
5 Notoption1,2,30r4
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depreciate since a higher interest rate discourages foreign capital inflows
appreciate since a higher interest rate encourages foreign capital inflows
depreciate since a higher interest rate encourages foreign capital inflows
appreciate since a higher interest rate discourages foreign capital inflows

spprel ot

mpact

13 In the IS-LM model for an open economy, an expansionary maonetary policy fﬁis the following
n

A decrease in the interest rate which causes a capital outflow, a depreciation of the
exchange rate, an increase in exports and an improvement of the trade balance

An increase In the interest rate which causes a capital outflow, an appreciation of the
exchange rate, a decrease In exports and a detenoration of the trade balance

An increase In the interest rate which causes a capital inflow, a depreciation of the
exchange rate, an increase in exports and an improvement of the trade balance

A decrease In the Interest rate which causes a capttal inflow, an appreciation of the
exchange rate, a decrease in experts and a detenoration of the trade balance /‘\ );f..L

LLak,m!ﬁM%E{-s‘R*-)D‘ﬂ‘? ./t\_,j\-\;*g"“"’

14 Comparing the impact of a contractionary monetary policy with an expansionary fiscal policy in
the IS-LM model for an open economy on the exchange rate and trade deficit the results are

that

1
2
3
@
5

in both cases the exchange rate appreciates and the trade deficit decreases

in both cases the exchange rate appreciates while the trade deficit for fiscal policy
increases and for monetary policy it decreases

for fiscal policy the exchange rate depreciates and the trade defictt increases while for
monetary policy the exchange rate appreciates and the trade deficit decreases

for fiscal policy the exchange rate appreciates and the trade deficit decreases while for
monetary policy the exchange rate depreciates and the trade deficit increases

in both cases the exchange rate appreciates and the trade defictt increases

15 Which of the following factors will cause an increase in the nominal wage demands of labour?

A lower level of unemployment~"
A decrease in the demand for labour>
The implementation of better unemployment benefits

A higher expected price level \/\[ = 'P'C Ny éu ) Z’)
; - +

a,bcandd
Onlya,bandc
Onlyb,cand d
Onlya, bandd
Onlyaand b
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16  If the mark-up by firms increases, the

17 Which of the following factor(s) will shift the wage-setting curve upwards?

18 The AS curve has a positive slope because \{ T - )04\ - W

price per unit will decrease, given the nominal wage
PS curve will shift upwards )
PS curve will shift downwards «”

price per unit will ﬁ;'ease, given the nominal wage P'-'-’ N C "}-l"\’:)
s o

aandc
bandc
aandd
bandd
Only d

A decrease In the unemployment rate * N * PH U 7;
An increase in unemployment benefits v «}— =

An increase In the mark-up of firms N

Labour legislation that provides workers with more protection

An increase In the nominal wage

Only ¢

Onily bandd
b,c,dande
a,bdande
a,bandc¢

£ ASDN

an increase In output 1S accompanied by an increase in nominal wages

an increase In output 1s accompanied by an increase in real wages

an Iincrease In output increases the expected price level

an Increase In output 1s accompanied by a decrease in nominal wages

an increase in output 13 accompanied by an increase in the demand for goods

19 If the actual pnice level is lower than the expected pnce level it causes

@

2
3
4

labour to bargain for a higher nominal wage and consequently the price level increases
and the AS curve shifts upwards

labour to bargain for a lower nominal wage and consequently the prnice level decreases
and the AS curve shifts downwards

labour to bargain for a higher nominal wage and consequently total spending increases
and the AD curve shifts to the nght

labour to bargain for a lower nominal wage and consequently the price level increases
and the AS curve shifts lower
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Question 20 1s based on the following diagram
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20 If the nghtward shift of the AD curve i1s due to an increase in the nominal money supply, the
situation at point b compared to point a is such that the

level of government spending 1s higher

level of taxation 1s lower
real money supply 1s lower
interest rate s higher

1
2
3
4
(&) level of Investment spending 1s higher

Your mark-reading sheet can get lost and you must therefore also write down your
answers for Saction B in the spaceo provided belaw.

1 8 ) 15 ~

2 16

3 10 17

4 11 18

5 12 19

6 13 20

7 14
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AFDELING B VERPLIGTEND (50 punte)

"Die unieke nommer vir ECS2602 is 477035

Watter van die volgende stellings is korrek?

b

bWk =

Die hoofinstrument van fiskale beleid 1s die begroting en die belangrikste beleidsverander-
likes is owerheidsbesteding en belasting

Die gevolg van die implementering van ekspansionistiese fiskale beleid s dat die
begrotingstekort toeneem

'n Ekspansionistiese monetére beleid behels die verhoging in die geldvoorraad om
sodoende die rentekoers te verlaag ten einde die totale vraag na goedere Iin die ekonomte
te verhoog

'n Beperkende monetére beleid behels die afname In die geldvoorraad en in die 1S-LM
model sal die LM-kromme opwaarts verskuif

a,bcend

Slegsa,benc
Slegsb,cend
Slegsa, cend
Slegsa,bend

In die goederemarkmodel word 'n afname In verbrukers- en investeerdersvertroue verteen-
woordig deur

1

oW [

'n afwaartse verskuwing van die goederevraagkromme en via die vermenigvuldigerseffek
daal die ewewigsproduksie- en inkomepeill

'n opwaartse verskuiwing van die goederevraagkromme en via die vermenigvuldigerseffek
styg die ewewigsproduksie- en inkomepeil

'n steller goederevraagkromme en die ewewigsproduksie- en inkomepeil styg

'n platter goederevraagkromme en die ewewigsproduksie- en inkomepeil daal

Gegewe dat c, = R100, 1=R250, G = R300, ¢ = %, T = R100 en Y = R3 000, 15 die
ewewigsinkomepeil en ten ende die volle indiensneming inkomepeil te berelk, moet
owerheidsbesteding (G) met  styg of belasting (T) moet daal met

S WM -

R2 200, G moet styg met R200, of belasting moet daal met R266 67
R2 300, G moet styg met R200, of belasting moet daal met R266 67
R2 200, G moet styg met R175, of belasting moet daal met R233 33
R2 300, G moet styg met R175, of belasting moet daal met R233 33
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